

				Vendor I	Ranking				Page 1 of 1
Letti	ng:	05241203	December 03, 2024 2:00 F	PM Call Order	: 005		Contract:	E59C4	
Distr	rict:	District 5		Counties:	ORANG	E	Fed Aid No:	N/A	
Cont	tract Time:	120 CALENI	DAR DAYS				Project(s):	42914217219	(*)
Cont	tract Desc:	Asphalt Rep	air						
Rank	c		Vendor	Bio	d Type	Bid Status	٦	Fotal Bid	Percent Of Low Bid
1	RANGER	CONSTRUCT	ION INDUSTRIES, INC.	Res	ponsive	Winning bid		\$677,755.00	100.00%
2	MASCI GE	NERAL CON	TRACTORS, INC	Res	ponsive	Non-Winning Bid		\$684,525.38	101.00%

TURTLE INFRASTRUCTURE PARTNERS, LLC 3 Responsive Non-Winning Bid \$774,912.09 114.34% HUBBARD CONSTRUCTION COMPANY 4 Responsive Non-Winning Bid \$825,344.80 121.78% 5 MIDDLESEX PAVING, LLC Responsive Non-Winning Bid \$918,818.15 135.57%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

FDOT
y y

			Tabulatio	n of Bids		Page 1 of 8
Letting:	05241203	December 03, 2024	Call Order:	005	Contract:	E59C4
District:	District 5		Counties:	ORANGE	Fed Aid No	: N/A
Contract Time:	120 CALENI	DAR DAYS			Project(s):	42914217219 (*)
Contract Descr	: Asphalt Rep	air				

FDOT District 5 Proposal ID No: E59C4 Financial Project No.: 429142-1-72-19 Fiscal Year: 2025 County: Orange Contract Calendar Days: 120 Lead Time: 14 Days

Intent & Scope:

The work under this Contract consists of asphalt milling and resurfacing, replacement of traffic loops, all existing pavement markings with painted pavement markings, and reflective pavement markers on various Department maintained roadways in Orange County.

Experience:

For this Contract, the Contractor is required to have at least three (3) years of experience in the performance of Asphalt Paving, or the Project Superintendent must have at least three (3) years of like experience as a Superintendent. A contractor that presently has a certificate of prequalification with the Department in "Hot Plant Mix Bituminous Course" will suffice to meet the above requirements.

Line No / Item ID Alterna Item Description	te Quantity Units	(1) RANGER CO INDUSTRI		(2) MASCI (CONTRACT		(3) TUR INFRASTRU	ICTURE
() indicates item is bid as Lump Sum	1	Unit Price	Ext Amount	Unit Price	Ext Amount	PARTNER Unit Price Ex	S, LLC (t Amount
SECTION: 0001	(ASPHALT RE	PAIR (MECHANIC	AL) (TN				
0005 0101 1 MOBILIZATION	(1.000) LS	62,950.00000	62,950.00	59,500.00000	59,500.00	67,765.36000	67,765.36
0010 0102 1 MAINTENANCE OF TRAFFIC	(1.000) DA (LS)	36,240.38000	36,240.38	24,785.00000	24,785.00	30,955.99000	30,955.99
0015 0327 70 6 MILLING EXISTING ASPHALT PAVEMENT, 1 1/2" AVG DEPTH	23,251.700 SY	3.35000	77,893.20	3.42000	79,520.81	3.32000	77,195.64



Tabulation of Bids

Page 2 of 8

Letting: 05241203 De	ecember 03, 2	2024 Ca l	I Order: 005		Contract:	E59C4	
Line No / Item ID Alternate Item Description	Quantity Units	(1) RANGER CO INDUSTR		(2) MASCI (CONTRACT		INFRAST	JRTLE RUCTURE
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	PARTNE Unit Price	ERS, LLC Ext Amount
SECTION: 0001 (A	ASPHALT REI	PAIR (MECHANIC	AL) (TN				
0020 0337 7 83 ASPHALT CONCRETE FRICTION COURSE,TRAFFIC C, FC-12.5, PG 76-	1,918.270 TN 22	198.60000	380,968.42	231.00000	443,120.37	279.77000	536,674.40
0025 0660 2102 LOOP ASSEMBLY, F&I, TYPE B	21.000 AS	2,000.00000	42,000.00	1,000.00000	21,000.00	975.00000	20,475.00
0030 0660 2106 LOOP ASSEMBLY, F&I, TYPE F	17.000 AS	2,870.00000	48,790.00	1,500.00000	25,500.00	975.00000	16,575.00
0035 0710 11101 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID, 6"	1.340 GM	5,230.00000	7,008.20	5,625.00000	7,537.50	4,550.00000	6,097.00
0040 0710 11102 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR INTERCHANGE AND URBAN ISLAND,	0.090 GM 8"	6,980.00000	628.20	7,500.00000	675.00	4,550.00000	409.50
0045 0710 11123 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR CROSSWALK AND ROUNDABOUT, 12	112.000 LF 2"	5.80000	649.60	6.25000	700.00	2.60000	291.20
0050 0710 11124 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR DIAGONAL OR CHEVRON, 18"	241.000 LF	5.80000	1,397.80	6.25000	1,506.25	3.90000	939.90
0055 0710 11125 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR STC LINE OR CROSSWALK, 24"	555.000 LF 0P	5.80000	3,219.00	6.25000	3,468.75	5.20000	2,886.00



Tabulation of Bids

Page 3 of 8

Letting:	05241203	December 03,	2024 Ca l	l Order: 005		Contract:	E59C4	
Line No / Ite Item Descri		e Quantity Units	(1) RANGER CC INDUSTRI		(2) MASCI CONTRAC		(3) TUR INFRASTRU	JCTURE
() indicates it	em is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	PARTNER Unit Price Ex	S, LLC « Amount
SEC	FION: 0001	(ASPHALT REI	PAIR (MECHANIC	AL) (TN				
	11131 EMENT MARKINGS, HITE, SKIP, 10-30 (2,330.00000	2,073.70	2,500.00000	2,225.00	4,550.00000	4,049.50
STANDARD, W	11141 EMENT MARKINGS, HITE, 2-4 DOTTED 10 DOTTED EXTENS	0.260 GM SION,	3,490.00000	907.40	3,750.00000	975.00	4,550.00000	1,183.00
	11160 EMENT MARKINGS, HITE, MESSAGE OF	17.000 EA R	98.80000	1,679.60	106.25000	1,806.25	32.50000	552.50
	11170 EMENT MARKINGS, HITE, ARROWS	20.000 EA	64.00000	1,280.00	68.75000	1,375.00	32.50000	650.00
	1201 EMENT MARKINGS, ELLOW, SOLID, 6"	1.140 GM	5,230.00000	5,962.20	5,625.00000	6,412.50	4,550.00000	5,187.00
STANDARD, Y	1224 EMENT MARKINGS, ELLOW, SOLID FOR CHEVRON, 18"	181.000 LF	5.80000	1,049.80	6.25000	1,131.25	2.60000	470.60
	11231 EMENT MARKINGS, ELLOW, SKIP, 6"	0.020 GM	2,330.00000	46.60	2,500.00000	50.00	4,550.00000	91.00



Tabulation of Bids

Page 4 of 8

Letting:	05241203	December 03,	2024 Ca l	ll Order: 005		Contract:	E59C4	
Line No / Item Item Descript		te Quantity Units	(1) RANGER CO INDUSTR		(2) MASCI CONTRACT		INFRÁST	JRTLE RUCTURE
-	n is bid as Lump Sun		Unit Price	Ext Amount	Unit Price	Ext Amount	PARTN Unit Price	ERS, LLC Ext Amount
SECTIO	DN: 0001	(ASPHALT REI	PAIR (MECHANIC	AL) (TN				
0095 0710 112 PAINTED PAVEM STANDARD, YEL GUIDELINE/6-10 6"	IENT MARKINGS LOW, 2-4 DOTTE	ĒD	3,490.00000	34.90	3,750.00000	37.50	4,550.00000	45.50
0100 E706 1 REFLECTIVE PA MARKER(REMO REPLACE)(CLAS	VEMENT /E AND	465.000 EA	6.40000	2,976.00	6.88000	3,199.20	5.20000	2,418.00
	PHALT REPAIR CHANICAL) (TN)	Section Totals:		\$677,755.00		\$684,525.38		\$774,912.09

Contract Grand Totals: \$677,755.00 \$684,52	774,912.09
--	------------



Tabulation of Bids

Page 5 of 8

Letting: 05241203	December 03,	2024 Ca l	I Order: 005		Contract:	E59C4	
Line No / Item ID Alternate Item Description	Quantity Units	(4) HUB CONSTRUCTIO		(5) MIDDLESEX	PAVING, LLC		
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(ASPHALT REI	PAIR (MECHANIC	AL) (TN				
0005 0101 1 MOBILIZATION	(1.000) LS	110,848.05000	110,848.05	52,000.00000	52,000.00		
0010 0102 1 MAINTENANCE OF TRAFFIC	(1.000) DA (LS)	109,164.30000	109,164.30	60,000.00000	60,000.00		
0015 0327 70 6 MILLING EXISTING ASPHALT PAVEMENT, 1 1/2" AVG DEPTH	23,251.700 SY	4.89000	113,700.81	7.00000	162,761.90		
0020 0337 7 83 ASPHALT CONCRETE FRICTION COURSE,TRAFFIC C, FC-12.5, PG 76	1,918.270 TN 6-22	214.99000	412,408.87	275.00000	527,524.25		
0025 0660 2102 LOOP ASSEMBLY, F&I, TYPE B	21.000 AS	1,569.93000	32,968.53	2,000.00000	42,000.00		
0030 0660 2106 LOOP ASSEMBLY, F&I, TYPE F	17.000 AS	1,794.21000	30,501.57	2,500.00000	42,500.00		
0035 0710 11101 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID, 6"	1.340 GM	2,136.41000	2,862.79	5,000.00000	6,700.00		
0040 0710 11102 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR INTERCHANGE AND URBAN ISLAND	0.090 GM D, 8"	2,746.67000	247.20	5,000.00000	450.00		



Tabulation of Bids

Page 6 of 8

Letting: 05241203	December 03,	2024 Ca l	I Order: 005		Contract:	E59C4	
Line No / Item ID Alter Item Description	nate Quantity Units	(4) HUB CONSTRUCTIO		(5) MIDDLESEX	(PAVING, LLC		
() indicates item is bid as Lump S	tum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(ASPHALT REI	PAIR (MECHANIC	AL) (TN				
0045 0710 11123 PAINTED PAVEMENT MARKING STANDARD, WHITE, SOLID FO CROSSWALK AND ROUNDABO	R	2.31000	258.72	8.00000	896.00		
0050 0710 11124 PAINTED PAVEMENT MARKING STANDARD, WHITE, SOLID FO DIAGONAL OR CHEVRON, 18"		3.47000	836.27	8.00000	1,928.00		
0055 0710 11125 PAINTED PAVEMENT MARKING STANDARD, WHITE, SOLID FO LINE OR CROSSWALK, 24"		4.62000	2,564.10	8.00000	4,440.00		
0060 0710 11131 PAINTED PAVEMENT MARKING STANDARD, WHITE, SKIP, 10-5 SKIP, 6" WIDE		1,220.81000	1,086.52	2,500.00000	2,225.00		
0065 0710 11141 PAINTED PAVEMENT MARKING STANDARD, WHITE, 2-4 DOTTE GUIDELINE/ 6-10 DOTTED EXTI 6"	D	1,220.77000	317.40	3,000.00000	780.00		
0070 0710 11160 PAINTED PAVEMENT MARKING STANDARD, WHITE, MESSAGE SYMBOL	,	57.80000	982.60	100.00000	1,700.00		
0075 0710 11170 PAINTED PAVEMENT MARKING STANDARD, WHITE, ARROWS	20.000 GS, EA	40.46000	809.20	75.00000	1,500.00		



Tabulation of Bids

Page 7 of 8

Letting: 05241203 D	ecember 03,	2024 Ca l	I Order: 005		Contract:	E59C4	
Line No / Item ID Alternate Item Description	Quantity Units	(4) HUB CONSTRUCTIO		(5) MIDDLESEX	PAVING, LLC		
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (A	ASPHALT REI	PAIR (MECHANIC	AL) (TN				
0080 0710 11201 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID, 6"	1.140 GM	2,136.39000	2,435.48	5,000.00000	5,700.00		
0085 0710 11224 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID FOR DIAGONAL OR CHEVRON, 18"	181.000 LF	3.47000	628.07	8.00000	1,448.00		
0090 0710 11231 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SKIP, 6"	0.020 GM	1,221.00000	24.42	2,500.00000	50.00		
0095 0710 11241 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, 2-4 DOTTED GUIDELINE/6-10 DOTTED EXTENSIO 6"	0.010 GM N,	1,220.00000	12.20	3,000.00000	30.00		
0100 E706 1 42 REFLECTIVE PAVEMENT MARKER(REMOVE AND REPLACE)(CLASS B)	465.000 EA	5.78000	2,687.70	9.00000	4,185.00		
0001 ASPHALT REPAIR Sec (MECHANICAL) (TN)	tion Totals:		\$825,344.80		\$918,818.15		

Contract Grand Totals:

\$825,344.80

\$918,818.15



Tabulation of Bids

Page 8 of 8

Letting:	05241203	December 03, 2024	Call Order: 005	Contract:	E59C4
NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.					